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RIRC| PP | ma-mis WEEE A% Ad Hi% B e
AA1BR55 L8E1T I T4LAF2— [150,000
el 4848 |2L FEIYERR HEE IN—Y 1,200 148,800
el 48138 |L RFEIYRRR HEE IN—Y 3,310[ 145,490
el 482187 FE iR HNEE x1=% 3,460 142,030
el 4828H |7 FEI iR HEE x1=% 6,400 135,630
el 4828H |7 FEI iR HEE IN— 1,5610] 134,120
el 5HTH[av PRk HNEE x1=% 11,630 122,490
el 5H8B|IL U REIMHER HNEE IN—Y 6,220 116,270
el 58108[(7E#% LEEEE 6,372 109,898
5 581H|BABTEC LEERE 21,108 88,790
izl 58158 |AV) K REXBE 9,606 83,184
5 5HI6H[2 BTV EEL 4| E coen 3,400 79,784
5 5H18H [EXEME WHEE coen 1,000 78,784
izl 5A18H AVt REXBE 9,291 73,493
Gzl 5H11B[IL FERR HEE X1=% 6,000 67,493
Gzl 5H18H[IL FEIRRT HEE X1=% 3,030 64,463
Gzl 5238 [T FEIRERT WHEE IN—TY 11,080 53,383
Gzl 5H258 (I FEIRRT HEE X1=% 1,080 52,303
5 5A318[RMSRELXHE WHEE X1=% 1,520 50,783
el 6 BB [TILFERRT HNEE N—T 7,090 43,693
el 68128 |IL > FEiiEks HNEE IN—T 16,200 27,493
el 6 128 [IL FEIRRT HNEE x1=% 5,830 21,663
el 6 H158[IL FEIRERT HNEE x1=% 6,600 15,063
el 6 228 [TIL FEIRERT HEE N—T 5,840 9,223
5 6 H25H | HXEERE WHEE SDOFE 1,000 8,223
el 6 5258 [ < MEH FEEE a ) —Ryk 872 7,351
5 6 H29H [} E R EME D BIEE 360 6,991
150,000 143,009 6,991 [ AfEYHL




